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Question Type-01: 9IS
(it «ffie o sivsia «FET TUE 5T @F GEd [iEm wo? [DU*20-21]
(a) e (b) &fEF#T (c) &1 (d) FRerad

ANYI: (a); EIHE QG 7= e [/t k,cr, 0, + 4H,50, = K,S0, + Cr;(S04); + 4H,0 + 3[0]
QAW SEE Giffs @ T 98 I |

FETEY ST RN THIRCBECS @0 T=2F L2 [Ans: c] [JU’20-21]
(a) OBRTES (b) Gl (c) (IS uffe (d) FERE FA
TIRCEe(EE FE9e I9ge 29 71 (&b ? [Ans: d] [JU20-21]
(a) FFEazE (b) FFHQRE TH (c) SIS (d) GiFafFeH

YC FIFGIREIED HYIH CAMIE fH6d @i ? [Ans: b] [CU20-21]
(a) CH;0H (b) C,H;OH (c) C3HgOH (d) NaOH

50 mL S92 #Afa=e Fare Fmg @t TRF TUrd? [Ans: b][DU?19-20]
(a) forT+ (b) T FifFrem (¢) =T (d) wiTefs FF

0.98 g H,S0, 9329 99 1.0 L & 53¢ tofd Fa1 T | {dibg I=ial Fo7 [DU’19-20]
(a) 0.1 M (b) 0.1 m () 0.01 M (d) 0.01 m

e @ C = k0 - L9 _ -~ 0010

(D SIS SoIETS 4d? [Ans: d][JU”19-20, Agri. Guccho’19-20]
(a) HCI (b) NaOH (c) KMnO, (d) Na,CO5

FH Gl SIS *wi? [Ans: b][JU’19-20]
(a) H,C,0,.2H,0 (b) KMnO,, (c) K,Cr,0, (d) Na,CO5

oge cetarl g sie HCI 8 =itg H, S0, oo <41 % @Hfors? [Ans: b][JU*19-20]
(a) fEfETRE T (b) crerifar Fifererg (c) IR (d) @FHE Y

CBITY GfFE TSI (19 {96 TIT T @2 [Ans: a][KU’18-19]
(a) NaHCO, (b) NH,HCO; (c) H3BO, (d) MnO,

HAITS (T AW TG I AT MR WSS et =52 [Ans: d][BAU’18-19]
(a) A3t (b) Na*t (c) Ca*t (d) K*

(SIS AT AT ARSI ORI (G IR T L [Ans: b][BAU’18-19]
(a) crifire afse e (b) ufFEE (c) =it (d) 73T ufre

6.3% Oxalic Acid (COOH), q3t= i@ (EIfiors Fo7 | [JnU’17-18]
(2) 0.20M (b) 0.025M (c) 0.50M ~ (d)0.25M

STYIT: (ﬂﬁ?w ﬁt); 63g _  10X6.3g — 0.7M

100mL  90g/molL-1
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10 mLWW(KOH)m@w 20 mL 1M H,S0, Haweix ace =0 | KOH 50 cueie swiat

TG? [RU’17-18]
(a) 2M (b) IM (c) 4M (d) 0.5M

TAL: (c)s 10 X Sou X 1 =20 X 1 X 2 1 Sgop = 4M

6.5mL 339 TiiE &7 GG 75T 792 [Ans: ¢][RU’17-18]
(a) I (b) Presi5 (c) crefar fferer (d) = teer T

o 4 fEfEs qitert fAwa---+14% s= SPEe A o0 37 | [Ans: a][CU*17-18]
(2) 0.1 mg (b) 0.01 mg (c) 0.001 mg (d) 0.0001 mg

e UGS afFe 2= 12.0M w&ty 59 | ©F iftfens «fitss 300 mL © 3© @i SRmEERe s
TCACR?

[KU’17-18]
(a) 2.60 (b) 3.60 (c) 4.60 (d) 5.60
FE: (b); 1000 mL @ w1tz 12 mol = 300 mL 9 vﬂm”ﬂ;’” =3.6molin=sv=12x03 = 3.6
SECOILSE FIF OF A0S IR T T ---- | [Ans: d][CU'16-17]
(2) ST TS “AfiTs (b) ST AR 2o I
(c) OTH @ “HITIA BIG*W FICe (d) 936 HWE ST B3¢t tofare
(e) R ©I& AT TS
Cersre e fMaraee I9ge Qe @t - | [Ans: a)[CU'16-17]
(2) Piofae affe (b) TR IAZT I (c) TR (d) SIRTPICARTAA
/5 A I FTBiD TSI ST Mo &y Toge? [Ans: ¢][DU’15-16]
(a) Pipette and beaker (b) Burette and reagent bottle
(c) Pipette and burette (d) Graduated pipette and conical flask
AL 1 st s Tage z0? [Ans: a][JU’15-16]
(a) eI (b) PeifEBem= (c) RibHITDe (d) FeTar

Written

e (aqua regia) 57 «te Gt e afém (dissolution of gold) Rz (reactmn) el 1 [InU?18-19)

A I SFATS sie HNO4: 915 HCl = 1: 3 =i 3wy |
T fsterey ffemat:

3HNO;(conc) + 9HCl(conc) — 6H,0(#) + 3NOCI(g) + 6[Cl](aq)
2Au(s) + 6[Cl](aq) — 2AuCl;(aq)
2AuCl;(aq) + 2HCl(conc) - 2HAuCl,(aq)

@M I, 3HNO3 (conc) + 11HCl(conc) + 2Au(s) - 2HAuCl, (aq) + 6H,0(¥) + 3NOCl(g)




